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{System.out.println("i is >= 3");
{System.out.println(\"i is <= 8") ;
(\
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{System.out.println{"i is <= 3")}} }

8&&15ystem.out.println("i is >= 8");}

§ystem.outtprintlnd"i is <= 3")};}
ﬂ {iSystem.out . .println("i is >= 8");}
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public static void (String[] args) {
ANt = I1nput.nextInt();
System.out.println("i is " + 1); JML“J‘WP
) * both use and re-assignment,

daf 2 = O) 4
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public static void/main(String[] args) {
9lntf@£— lﬁﬂw—@
P 5
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public static void main(String[] args) {
int @)= input. n tInt

if (1 > 0) d? dfdm%MX"ﬁ A J¢\ J%Qdﬁyﬁ
_%gg(giggi;:a ~f}a new variable j =/

) -” l i D{Pcldvf’/( A A 0/7[%\@/‘3/”&

%%se 1 ‘iTA" JMLJ*ff

x —3; /+fla new variable also calded j #*/

Q) L ...} X
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1 |public static void main(String[] args) {
2 int@= input.nextInt();
3 if (1 > 0) {
@ in 1 * 3; /* a new varidle j */
o) .f( 7. > 10) { ... 1}
6 }
7 else {
variable also called j */
5 | [P0 (|
0| v
{_)System.out.println("i x J is " + @* ) ; X
2 |}
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intéfjk ingut.nextInt( :

int y=5 0;
if SGP=0) |

1 System t.println(1x is negativéib;
12 47/_,
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Operand op !op

true false
false true
F—«

’
1T
+ not the case that isPositive 1s true */
n("Error: radius value must be positive.");

else { é:— diﬂ
—)System.out.println("Area is " +@—> g;g*@*;

}
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Left Operand opl Right Operand op2 opl && op2

frue frue true

\/ frue false false
false frue false

S &, lalse false false

Int(); FE —
) = lage >=_4 ’
age < TT

/x_young +l/ } —

lsTelse if (1s0IdF Igh && 1sNotTooOld) {[/* middlefagm( }
XLelse { /% seni¢z */ } ’[ 'T -
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Tst 3
Left Operand op1 Right Operand op2 opl || op2
false false false
frue false true
false frue true

true true true




